

SURAT MUNICIPAL CORPORATION WEST ZONE CONSENT FORM

QL	JOTATION NO. ADD.	CITY ENGINEER/	West Zone/17/2025-	26 DATE :17/06/2025	5	
N			REPAIRING WOR REA IN WEST (R	K OF VARIOUS FLOOD ANDER) ZONE		
ES	ESTIMATED AMOUNT :Rs. 5,00,000=00 EMD AMOUNT: Rs. 5,000/-					
validity period : 120 Days Agency Category :			у :			
Required Documents(It should be consider base on T&C of Standing commitee Resolusion no. 923/2025 Date: 15/05/2025)						
1	Solvency Certificate			Yes		
2	Registration Certific			Yes		
3	Experience Certific	ate		Yes		
4	Pan Card			Yes		
5	PF Certificate			Yes		
6	GST Certificate			Yes		
		QUOTATION/C	ONSENT AVAILIE	BILITY		
	ISSUING Executive Engineer, West Zone, Surat AUTHORITY					
	ISSUING OFFICE	Administrative	Administrative office, West Zone(Rander), Balasaheb Devras			
		Road, Tadwadi, Rander, Surat				
	INVITING Execut		ive Engineer, West Zone, Surat			
	AUTHORITY					
	Submition Date	Last date: 24/	06 /2025			
SUBMITTED To,						
Tir	Time: 18.00 P.M. EXECUTA		CUTIVE ENGINEER			
		ADMINISTRATIVE BUILDING, WEST ZONE (RANDER),				
		BALASAHEB DEVRAS ROAD, TADWADI, RANDER,				
	SURAT					
GS	T CLAUSE FOR CON	STRUCTION/ ERE	CTION/ COMMISSIO	NING/ INSTALLATION/ REPA	URS/	

GST CLAUSE FOR CONSTRUCTION/ ERECTION/ COMMISSIONING/ INSTALLATION/ REPAIRS/ MAINTENANCE/ RENOVATION/ FABRICATION OF STRUCTURE INCLUDING BUILDING (MEANS ALL WORKS CONTRACT/ TURN KEY PROJECT/ SUPPLY OF MATERIAL/ GOODS)

GST (Goods and service tax has come in existance from 1st July, 2017. Contractor / Successful Bidder is bound to pay any amount of GST prescribed by the govt. of India as per the terms of contract agreed upon during the course of execution of this contract.

During the course of execution of contract, if there is any change in rate if GST (Goods and Service Tax) by the Government, the same shall be reimbursed/recovered separately by SMC. subject to the submission of original receipt/proof for the amounts actually remitted by the contractor/ successful Tenderer to the competent Authority along with a certificate from Chartered Accountant of contractor/ successful Tenderer certifying that the amount of GST paid to the government and the same shall be intimated/submitted/claimed within 30 (Thirty) days from the date of payment. Remittance of GST within stipulated period shall be the sole responsibility of the successful contractor/Tenderer, failing which SMC may recover the amount due, from any other payable dues with SMC and decision of Municipal Commissioner shall be final and binding on the contractor/ successful Tenderer in this regard. Further, the non-payment of GST to the government may lead to the termination of contract and forfeiture of security Deposit/Performance Guarantee Amount.

If imposition of any other new taxes/Duties/levies/Cess or any other incidentals etc. or any increase in the existing taxes/Duties/Levies/Cess or any other incidentals etc. (Excluding GST) are imposed during the course of the contract, the same shall be borne by the successful contractor/Tenderer only, in no case SMC shall be liable for the same.

SIGNATURE OF ISSUING AUTHORITY

SD/-EXECUTIVE ENGINEER WEST ZONE SURAT MUNICIPAL CORPORATION

કાર્યપાલક ઈજનેર

પશ્ચિમ ઝોન (રાંદેર)



સુરત મહાનગરપાલિકા

પશ્ચિમ ઝોન (રાંદેર)(વહીવટી ભવન) બાળા સાહેબ દેવરસ રોડ, ન્યુ રાંદેર રોડ, તાડવાડી, સુરત. ક્રોન નં :- ૨૭૮૬૧૮૧–૮૩

નં. ૫. ઝોન /ટે	 ક	
તા.		/૨૦૨૫

પ્રતિ,		
•••••	 •••••	•••••

વિષય ઃ– પશ્ચિમ ઝોન (રાંદેર)ના અડાજ<mark>ણ વિસ્તારમાં આવેલ ફલડગેટ માં ફેબ્રિકેશન</mark> તથા અન્ય સિવિલ મેઈનટેનન્સ કરવાના કામ.

સંદર્ભ :- (૧) સ્થાયી સમિતિ ઠરાવ નં. ૯૨૩/૨૦૨૫, તા.૧૫/૦૫/૨૦૨૫ મુજબના ભાવે અને શરતે

મહાશય,

ઉપરોક્ત બાબતે જણાવવાનું કે, પશ્ચિમ ઝોન (રાંદેર)ના અકાજણ વિસ્તારમાં આવેલ ફલકગેટ માં ફેબ્રિકેશન તથા અન્ય સિવિલ મેઈનટેનન્સ કરવાના કામ સ્થાયી સમિતિ ઠરાવ નં. ૯૨૩/૨૦૨૫, તા.૧૫/૦૫/૨૦૨૫ મંજુરીથી મંજુર થયેલ ભાવો અને શરતોને આધીન રૂા.૫,૦૦,૦૦૦.૦૦ પૈ. ની મર્યાદામાં કામગીરી કરવા સારૂ રસ ધરાવતા હોવ તો આ કામ માટે જરૂરી અર્નેસ્ટમની કીપોઝીટની ૨કમ સાથેનું તમારૂ સંમતિપત્રક તા.૨૪/૦ σ /૨૦૨૫ સુધીમાં નીચે સહી કરનારને મોકલવા ઘટતું કરશો. કામ તથા શરતો અંગેની વિસ્તૃત સમજ માટે અત્રેના ઝોનનાં સ્ટોર્મ—ડ્રેનેજ ખાતાનો સંપર્ક કરવો. કામની વિગત નીચે મુજબ છે.

અનુ	કામનું નામ	અંદાજીત ૨કમ	બાનાની ૨કમ
.નં.			
૧	પશ્ચિમ ઝોન (રાંદેર)ના અકાજણ વિસ્તારમાં આવેલ ફલકગેટ માં ફેબ્રિકેશન તથા અન્ય સિવિલ મેઈનટેનન્સ કરવાના કામ.	રૂા.૫,૦૦,૦૦૦.૦૦ પૈ.	રૂા.૦૫,૦૦૦.૦૦ પૈ.

ઉપર જણાવેલ કામ અંગે ઈજારદારોએ સંમતિ પત્ર માં ઈ.એમ.ડી., સોલવન્સી, રજીસ્ટ્રેશનની પ્રમાણિત નકલ, અનુભવની પ્રામણિત નકલ, પ્રોવિડન્ડ ફંડની પ્રામણિત નકલ, જી.એસ.ટી. સર્ટી. નકલ, પાનકાર્ડની પ્રામણિત નકલ આપવાની રહેશે તેમજ રૂા.૩૦૦/– ના સ્ટેમ્પ પર સીકયુરીટી ડીપોઝીટ નિયત સમયમર્યાદામાં ભરવાની બાંહેધરી આપવાની રહેશે. ઉપરોક્ત જણાવેલ તારીખ બાદ આવેલ સંમતિપત્રકો માન્ય રાખવામાં આવશે નહી.

SD/-કાર્યપાલક ઈજનેર પશ્ચિમ ઝોન (રાંદેર) સુરત મહાનગરપાલિકા

SURAT MUNICIPAL CORPORATION WEST (RANDER) ZONE

FABRICATION AND REPAIRING WORK OF VARIOUS FLOOD GATE AT ADAJAN AREA IN WEST (RANDER) ZONE , SURAT.

	<u>SCHEDULE-B</u>					
SN	ITEM	Qty	Rate (SOR 23-24 Without GST & With Cess)	Unit	Total	
1	Providing & laying cement concrete 1:4:8 (1 cement:4 coarse sand:8 graded stone agg. 40 mm nominal size) & curing comp. excl.cost of form work in (A) Foundation and Plinth	1	2,680.21	C.M.	2,680.21	
2	Brick work using common burnt clay building bricks having crushing strength not less than 35 kg./Sq.Cm. in Cement Mortar 1:6 (1- Cement : 6 -fine sand)(C) Fly Ash Bricks Ground Floor	1	4,511.97	C.M.	4,511.97	
3	Half brick masonry in common brunt clay building bricks having crushing strength not less than 35 Kg/Sq.Cm. in Cement mortar 1:4 (1-Cement: 4 - coarse sand) in foundation and plinth (C)Fly Ash Bricks	6	625.53	S.M.	3,753.18	
4	Providing 20 mm thick double coat mala cement plaster on brick / concrete work for plastering comprising of base coat 12 mm thick cement plaster in cement mortar (1 Cement: 4 coarse sand) in rough finishing and 8 mm thick top coat of cement mortar 1:2 (1 Cement: 2 Coarse sand) finished with trovel including scaffolding curing etc. complete.	30	272.48	S.M.	8,174.40	
5	Providing & fixing M.S.Grills of required pattern to wooden frames of windows etc. At all floor levels with M.S. flats at required spacing & frame around square or round bars with round headed bolts & round headed bolts and nuts or by screws incl. Priming coat of Red lead paint etc. comp. (A) Plain grill For all Floors	1500	104.20	Kg.	1,56,300.00	
6	Steel work welded in built up sections, framed work including cutting, hoisting, fixing in position and applying a priming coat of red lead paint					
Ü	(A) in beams & joists channels angles, tees, flats with connection plates or angle cleats as in main & cross beams,hip & trussed purlins connected to common raffers & the like.	60	9,047.86	Qtl.	5,42,871.60	
7	Providing and fixing G.I. chain link of 50mm x 50mm size x 10 guage thick with nuts, bolts, washer or G.I. pins, excluding M.S. angles etc.complete as per relevent IS specification & directed by engineer in charge. (TATA or Jindal Make)	50	311.00	SM	15,550.00	
8	Providing and Fixing Hollow steel Sections Framed Work including Cutting, Hoisting, Welding & Fixing in position Purlin, Main Chord etc. as per Engineer- in-charge.TATA / JINDAL / ASIAN Make	2400	126.00	Kg.	3,02,400.00	
9	Painting two coat (excluding priming coat) on new steel and other metal surface with synthetic enemal paint, burshing to give an even shade including cleaning the surface of all dirt, dust and other foreign matters.	30	65.31	S.M.	1,959.30	

				4,99,308.9
52.02 % Below As Per Std.Committe Reso.No.923/2025, DT.15-05-2025				5,41,351.68
Total Amount				10,40,660.6
Providing & applying two coats of weather shield max paint (3 coats may be required in case of darker colours.) of ICI Dulux or Apex Ultima of Asian Paint including applying exterior acrylic primer coat as per manufacturers specification and directions in shade and colour approved by architects, on exterior surfaces of the building including scaffolding, preparing the surface, watering, curing etc. complete and as directed by the architects and manufacturers. Surface Preparation: surface is thoroughly clean, dry and free from all loose dirt, chalk, grease, fungi, algae and flaking paint. This can be achieved by brushing with a wire/ stiff coir brush, followed by water jetting if required. Fill up all minor cracks and defects with white cement and sand mixture in the ratio 1:3. For application on previously painted wall, previous coatings of paint must be thoroughly scraped off and Clean the surface thoroughly using wire brushes. Priming: Apply a liberal coat of exterior acrylic primer and allow it to dry for 4-5 hours. Application of putty is not recommended. Minimum 4-6 hours duration is required between each coat of weather shield max paint	30	82.00	S.M.	2,460.00

SD/EXECUTIVE ENGINEER
WEST (RANDER) ZONE
SURAT MUNICIPAL CORPORATION